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] 4
tan(53.13° )~S|n X +COS X = 5/- cos(53.13°)

sin (53.130 ) SiN X+ cos(53.130 ) .COSX = %cos(53.13°)

cos(53.13° - x) ~-0.8= cos(36.87°)
53.13° — x = +36.87° + 360°k

(1)

(2)

53.13" — x = 36.87 + 360"k
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c0s(a - ff) =cosa-cos f+sina-sin B 2 2
o + -
cos(c + ) =cosa -cos f-sina-sin § cosa+cos/3=2005ucos¥
tana +tan g _
tan(a+ﬂ):—l—tana-tanﬂ COS(Z—COSﬂ:—ZSinMSinu
Ne—tan
tan(a—ﬂ)z tana —tan B
l+tana-tan g . ) ) L a a
cota-cot f-1 SIN2¢ =2SIN X COS¥ = SInQ=2S1n —COS —
cot(a + f) = — L= 2 2
cota+cot
Cotar-cot f+1 cos2a = cos’a—sin‘a = 2cos’a— 1=2sin"a -1
cot(a-f)=————
cote —cot
cosa =

2sin2 % =1-cosa
2

2sin2 o =1-c0s 2at
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